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(ENGLISH)

AREAS RELATED TO CIRCLES

Others

1. A circular pond is of diameter  . It is

surrounded by a   wide
path. Find the cost

17.5 m

2 m

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2HhDy6YlLV0V


of constructing the path at the rate of  

per square
metre.

Watch Video Solution

Rs. 25

2. From a thin metallic piece in the shaped of a

trapezium ABCD in which  and 

,a quarter circle BFEC is

removed. Given,  and 

 calculate the area of remaining

AB ∣ ∣ CD

∠BCD = 90∘

AB = BC = 3.5cm

DE = 2cm

https://dl.doubtnut.com/l/_2HhDy6YlLV0V
https://dl.doubtnut.com/l/_YmFDau9ORRT4


(shaded) part of metal sheet. 

Watch Video Solution

3. In the adjoining figure, ABCD is a trapezium

with 

and the distance between AB and DC is 14 cm.

AB ∣ ∣ DC, AB = 18cm, DC = 32cm

https://dl.doubtnut.com/l/_YmFDau9ORRT4
https://dl.doubtnut.com/l/_c78gBFOlr3Dw


If arcs of equal radii 7 cm taking AB, C and D as

centres, have drawn , then find the area of the

shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_c78gBFOlr3Dw


4. ABC is an equilateral
triangle of side 8cm. A,

B and C are the centres of circular arcs of

radius
4cm. Find the area of the shaded region

correct upto 2 decimal places.

Watch Video Solution

5. In figure, find the area of the shaded region

Watch Video Solution

[Useπ = 3. 14]

https://dl.doubtnut.com/l/_NN9NFWJwq4qL
https://dl.doubtnut.com/l/_yHgZ42MTSwNT
https://dl.doubtnut.com/l/_wBhijY5N6Mex


6. Find to the three places of decimal the

radius of the circle whose area
 is the sum of

the areas of two triangles whose sides are 35,

53, 66 and 33,
56, 65 measured in centimetres.

Watch Video Solution

7. Find the area of a shaded region in the

figure, where a circular arc of
 radius 7cm has

been drawn with vertex A of an equilateral

triangle ABC of
side 14cm as centre.

Watch Video Solution

https://dl.doubtnut.com/l/_wBhijY5N6Mex
https://dl.doubtnut.com/l/_t65wAsaqv3qO


8. Figure, shows a kite in which BCD is the

shape of a quadrant of a
circle of radius 42cm.

ABCD is a square and 
CEF is an isosceles right

angled triangle whose equal side are 6cm

long. Find the area of the shaded region.

Watch Video Solution

9. A circular grassy plot of land, 42 m in

diameter, has a path 3.5 m wide running round

https://dl.doubtnut.com/l/_t65wAsaqv3qO
https://dl.doubtnut.com/l/_7w21BNFqpyYA
https://dl.doubtnut.com/l/_hsVYDsxW9Yu5


it on the outside. Find the
 cost of gravelling

the path at Rs 4 per square metre.

Watch Video Solution

10. From each of the two opposite corners of a

square of side 8cm, a
 quadrant of a circle of

radius 14. cm is cut. Another circle of radius

4.2cm
is also cut from the centre as shown in

figure. Find the area of the
remaining (shaded)

portion of the square.

Watch Video Solution

https://dl.doubtnut.com/l/_hsVYDsxW9Yu5
https://dl.doubtnut.com/l/_CpmM060ZT9o4


11. The diagram shown two arcs, A and B. Arc A

is part of the circle with
 centre 
 and radius


. Arc 
 is part of the circle with centre 

and radius 
, where is the mid-point of PQ.

Show that the area enclosed by the two arcs is

equal to 

Watch Video Solution

O

OP B M

PM

25(√3 − )cm2π

6

12. A copper wire, when bent in the form of a

square, encloses an area of 484 
 If thecm2.

https://dl.doubtnut.com/l/_CpmM060ZT9o4
https://dl.doubtnut.com/l/_7G7SLzVOZyYN
https://dl.doubtnut.com/l/_IDFPGlcBde3K


same wire is bent in the form of a
 circle, find

the area enclosed by it. (Use 

Watch Video Solution

π = ).
22

7

13. The inner circumference if a circular track is

220m. The track is 7m
 wide everywhere.

Calculate the cost of putting up a fence along

the outer
circle at the rate of Rs. 2 per metre.

Watch Video Solution

(Useπ )
22

7

https://dl.doubtnut.com/l/_IDFPGlcBde3K
https://dl.doubtnut.com/l/_5VBP0OF5qesE
https://dl.doubtnut.com/l/_3zpCbptKjwnw


14. A boy is cycling such that the wheels of the

cycle are making 140 revolutions per minute. If

the diameter of the wheel is
 60 cm, calculate

the speed per hour with which the boy is

cycling.

Watch Video Solution

15. The diameter of the driving wheel of a bus

is 140cm. How many
 revolutions per minute

https://dl.doubtnut.com/l/_3zpCbptKjwnw
https://dl.doubtnut.com/l/_nDfHLD9EPbfS


must the wheel make in order to keep a speed

of 66km
per hour?

Watch Video Solution

16. Find the area of a quadrant of a circle

whose
circumference is 22 cm.

Watch Video Solution

17. If the perimeter of a semi-circular

protractor is 108cm, find the
 diameter of the

https://dl.doubtnut.com/l/_nDfHLD9EPbfS
https://dl.doubtnut.com/l/_YAn4VXUjuopY
https://dl.doubtnut.com/l/_D9gwD3S2Ukj5


protractor.

Watch Video Solution

18. Two circles touch externally. The sum of

their areas is  sq. cm and the distance

between their centres is 14 cm. Find the radii

of the two circles.

Watch Video Solution

130π

https://dl.doubtnut.com/l/_D9gwD3S2Ukj5
https://dl.doubtnut.com/l/_LhcADkmpQKwL


19. In a circle of radius 6 cm, a chord of
 length

10 cm makes an angle of 
at
the centre of

the circle. Find
 (i) the circumference of the

circle, (ii) the area of the circle

Watch Video Solution

110o

20. Figure shows a sector of a circle of radius r

containing an angle  The area of the sector

is  and the perimeter is 50cm. Prove that

 and 

θ ∘

Acm2

θ = ( − 1)
360

π

25

r
A = 25r − r2

https://dl.doubtnut.com/l/_0fyCmkc8PrMG
https://dl.doubtnut.com/l/_3ENWn0fiLH7x


Watch Video Solution

21. If he equation 

has three real roots in G.P., then 
 has the

value equal to _____.

Watch Video Solution

x3 + ax2 + bx + 216 = 0

b/a

22. A sector of 
 cut out from a circle

contains area .
 Find the radius of the

circle

Watch Video Solution

56∘

4. 4cm2

https://dl.doubtnut.com/l/_3ENWn0fiLH7x
https://dl.doubtnut.com/l/_kFrlhPjpODyx
https://dl.doubtnut.com/l/_h37L5t128mtS


23. A horse is tied to a pole with 28 m long

string. Find the area where the horse can

graze. (Take

Watch Video Solution

π =  ).
22

7

24. If a square is inscribed in a circle, what
 is

the ratio of the areas of the circle and the

square?

Watch Video Solution

https://dl.doubtnut.com/l/_h37L5t128mtS
https://dl.doubtnut.com/l/_uylslTeC7ZIH
https://dl.doubtnut.com/l/_CriwMq5MDPL7


25. The length of the minute hand of a clock is

14 cm. Find the area swept by the minute hand

in 5 minutes

Watch Video Solution

26. In a circle of radius 21cm, an arc subtends

an angle of 
 at the centre. Find (i) the

length of the arc (ii) area of the sector
formed

by the arc. 

600

(Useπ )
22

7

https://dl.doubtnut.com/l/_CriwMq5MDPL7
https://dl.doubtnut.com/l/_cD71JYJeCe9U
https://dl.doubtnut.com/l/_UeYKuWyFljIr


Watch Video Solution

27. In an equilateral triangle of side 24cm, a

circle is inscribed touching
 its sides. Find the

area of the remaining portion of the triangle

Watch Video Solution

(Take√3 = 1. 732)

28. An athletic track 14 m wide consists of two

straight sections 120 m long joining and

https://dl.doubtnut.com/l/_UeYKuWyFljIr
https://dl.doubtnut.com/l/_5gvEVTHHQkYK
https://dl.doubtnut.com/l/_6UIq3Jt8jA2y


semicircular ends inner diameter 35 m . find

area of track

Watch Video Solution

29. The area of an equilateral triangle is


 . Taking each angular point as

shown in Figure. Find the area of the
 triangle

not included in the circle.

Watch Video Solution

49√3cm2

https://dl.doubtnut.com/l/_6UIq3Jt8jA2y
https://dl.doubtnut.com/l/_VMMyYI54RAih


30. In Figure, two circular flower beds have

been shown on two sides of a
 square lawn

ABCD of side 56m. If the centre of each circular

flower bed is
 the point of intersection of the

diagonals of the square lawn, find the sum
 of

the areas of the lawns and the flower beds.

Watch Video Solution

31. ABCD is a field in the shape of a trapezium.


 and 
AB ∣ ∣ DC ∠ABC = 900,

https://dl.doubtnut.com/l/_lOdw3ZS7g5CI
https://dl.doubtnut.com/l/_JEJJFh9IueEA



 Four sectors are formed with

centres 
(See Figure). The radius

of each sector is 17.6m. Find the
 total area of

the four sectors.
 area of remaining portion

given that 

Watch Video Solution

∠DAB = 600.

A, B, CandD

AB = 75mandCD = 50m.

32. In Figure, a crescent is formed by two

circles which touch at A. C is
the centre of the

larger circle. The width of the crescent at BD is

https://dl.doubtnut.com/l/_JEJJFh9IueEA
https://dl.doubtnut.com/l/_6tpbebwuas5k


9cm and
at EF it is 5cm. Find (i) the radii of two

circles (ii) the area of the
shaded region.

Watch Video Solution

33. In the given figure,three circles of radius 2

cm touch one another externally.These circles

are circumscribed by a circle of radius R

cm.Find the approximate value of R.

Watch Video Solution

https://dl.doubtnut.com/l/_6tpbebwuas5k
https://dl.doubtnut.com/l/_36dg8N4aGWsM


34. Four equal circles, each of radius 5 cm,

touch each other as shown in Fig.20. Find the

area included between them.
(Take

Watch Video Solution

π = 3. 14).

35. Four cows are tethered at four corners of a

square plot of side 50m, so
 that they just

cannot reach on another. What area will be

left ungrazed?

Watch Video Solution

https://dl.doubtnut.com/l/_zUQ1x5MRHudc
https://dl.doubtnut.com/l/_G1l29g8XTNA7


36. The inside perimeter of a running track

(shown
in figure) is 400m. The length of each

of the straight portion is 90m and the
 ends

are semi-circles. If track is everywhere 14m

wide, find the area of the
 track. Also, find the

length of the outer running track.

Watch Video Solution

37. In the figure below, the square ABCD is

made up of two parts, X and Y.The part X, is

https://dl.doubtnut.com/l/_G1l29g8XTNA7
https://dl.doubtnut.com/l/_OVwFQPVIyaFS
https://dl.doubtnut.com/l/_d1RRMHo9bJ9V


formed by a semicircle and line AB. The

perimeter of X is 36 cm and perimeter of the

shaded part Y is 64 cm.
 a. Find the perimeter

of square ABCD
 b. Find the area of shaded

region Y

Watch Video Solution

38. Figure, ABCD is a square of side 2a. Find

the ratio between
the circumferences and
the

areas of the incircle and the circum-circle of

the square.

https://dl.doubtnut.com/l/_d1RRMHo9bJ9V
https://dl.doubtnut.com/l/_OzWsx7sUCOdb


Watch Video Solution

39. A bucket is raised from a well by means of a

rope which is wound round a wheel of

diameter 77 cm. Given that the bucket ascends

in 1 minute 28 seconds with a uniform speed

of 1.1 m/sec, calculate the number of complete

revolutions the wheel makes in raising the

bucket.

Watch Video Solution

https://dl.doubtnut.com/l/_OzWsx7sUCOdb
https://dl.doubtnut.com/l/_jmUAocddIpgU


40. A chord 10 cm long is drawn in the circle

whose radius is  cm. Find the area of both

the segments

Watch Video Solution

5√2

41. In Figure, ABC is a right-angled triangle,

,AB=28 cm
and BC=21 cm
With AC as

diameter a semicircle is drawn and with BC as

radius a
quarter circle is drawn. Find the area

∠B = 900

https://dl.doubtnut.com/l/_EbJAvKbHTOtW
https://dl.doubtnut.com/l/_nar3BQ4cKSHl


of the shaded region correct to two
 decimal

places.

Watch Video Solution

42. In Figure, there are three semicircles,
 A, B

and C having diameter 3cm each, and another

semicircle E having a circle
 D with diameter

4.5cm are shown. Calculate:
 (i)the area of the

shaded region.
 (ii)the cost of painting the

shaded region at the rate of 25 paise per 
,

to the nearest rupee.

cm2

https://dl.doubtnut.com/l/_nar3BQ4cKSHl
https://dl.doubtnut.com/l/_YiT65BKmqlRP


Watch Video Solution

43. The inner and outer diameters of ring 1 of

a dartboard are 32cm and
 34cm respectively

and those of rings II are 19cm and 21cm

respectively. What
 is the total area of these

two rings?

Watch Video Solution

44. In Figure AB = 36 cm and M is mid-point of

AB. Semi-circles are drawn on AB, AM and MB

https://dl.doubtnut.com/l/_YiT65BKmqlRP
https://dl.doubtnut.com/l/_jsgqZz3NDX5f
https://dl.doubtnut.com/l/_gGRr7M37ROn2


as diameters. A circle with centre C touches all

the three circles. Find the area of the shaded

region.

Watch Video Solution

45. A drain cover is made from a square metal

plate of side 40cm having 441
 holes of

diameter 1cm each drilled in it. Find the area

of the remaining
square plate.

Watch Video Solution

https://dl.doubtnut.com/l/_gGRr7M37ROn2
https://dl.doubtnut.com/l/_fbmuC9iJA2p9
https://dl.doubtnut.com/l/_R0XQYe07yE7H


46. A chord AB of a circle of radius 10cm makes

a right angle at the centre
 of the circle. Find

the area of the major and minor segments

Watch Video Solution

(Takeπ = 3. 14)

47. A chord of a circle of radius 10cm subtends

a right angle at the
 centre. Find:
 area of the

minor sector
 area of the minor segment
 area

of the major sector
area of the major segment

Watch Video Solution

https://dl.doubtnut.com/l/_R0XQYe07yE7H
https://dl.doubtnut.com/l/_LNfrjFADqEYM


48. A pendulum swing through an angle of 

and describes an arc 8.8 cm in length. Find the

length of the pendulum.

Watch Video Solution

300

49. In Figure, there are shown sectors of two

concentric circles of radii
7cm and 3.5cm. Find

the area of the shaded region. 

(π = )
22

7

https://dl.doubtnut.com/l/_LNfrjFADqEYM
https://dl.doubtnut.com/l/_d4hZSMJVxsOr
https://dl.doubtnut.com/l/_1j0meEDFKOcn


Watch Video Solution

50. A car travels 1 kilometre distance in which

each wheel makes 450
 complete revolutions.

Find the radius of the its wheels.

Watch Video Solution

51. In Triangle 
 with fixed length of 

the internal bisector of angle 
 meets the

side 
 and the circumcircle at 
 . The

ABC BC,

C

ABatD E

https://dl.doubtnut.com/l/_1j0meEDFKOcn
https://dl.doubtnut.com/l/_lyp0XBMxCQhZ
https://dl.doubtnut.com/l/_xNvHzSeRjnoZ


maximum value of 
 is
 
 (b) 
 (c) 


(d) none of these

Watch Video Solution

CD × DE c2 c2

2
c2

4

52. An elastic belt is placed round the rim of a

pulled of radius 5cm. One
point on the belt is

pulled directly away from the centre 
 of the

pulley until it is at P, 10cm from O. Find the

length of the
 belt that is in contact with the

rim of the pulley. Also, find the shaded
area.

Watch Video Solution

O

https://dl.doubtnut.com/l/_xNvHzSeRjnoZ
https://dl.doubtnut.com/l/_vbP5A03rC8wf


53. The short and long hands of a clock are

4cm and 6cm long respectively.
 Find the sum

of distances travelled by their tips in 2 days.

Watch Video Solution

(π = )
22

7

54. The perimeter of a sector of a circle of

radius 5.2cm is 16.4cm. Find
 the area of the

sector.

https://dl.doubtnut.com/l/_vbP5A03rC8wf
https://dl.doubtnut.com/l/_uB7NxKqAIDUT
https://dl.doubtnut.com/l/_VJ2Z83yxWwYC


Watch Video Solution

55. The length of minute hand of a clock is

14cm. Find the area swept by
the minute hand

in one minute. 

Watch Video Solution

(Useπ )
22

7

56. A chord AB of a circle of radius 10cm

subtends a right angle at the
 centre. Find:

area of the minor sector
 area of the minor

https://dl.doubtnut.com/l/_VJ2Z83yxWwYC
https://dl.doubtnut.com/l/_pBuhkRGIzNri
https://dl.doubtnut.com/l/_cLmOcjScuuze


segment
 area of the major sector
 area of the

major segment

Watch Video Solution

57. 
is the diameter of a circle, centre 
is

a point on the circumference such that


 The area of the minor segment

cut off by AC is equal to twice the area
of the

sector BOC. Prove that

Watch Video Solution

AB O
.
C

∠COB = θ.

sin( )cos( ) = π( − )
θ

2

θ

2

1

2

θ

120

https://dl.doubtnut.com/l/_cLmOcjScuuze
https://dl.doubtnut.com/l/_0RGii8zYi8Xw


58. In a circle with centre 
and radius 5cm, AB

is a chord of length 
 . Find the area of

sector 

Watch Video Solution

O

5√3cm

AOB.

59. An arc of a circle is a length 5 
and the

sector it bounds has an area of 
 . Find

the radius of the circle.

Watch Video Solution

πcm

20πcm2

https://dl.doubtnut.com/l/_0RGii8zYi8Xw
https://dl.doubtnut.com/l/_iR13n3Ry2Gpy
https://dl.doubtnut.com/l/_76aqjctkhbcv


60. A horse is placed for grazing inside a

rectangular field 70m by 52m and
 is tethered

to one corner by a rope 21m long. On how

much area can it graze?

Watch Video Solution

61. Circle inside a Circle : PQRS is a diameter of

a circle of radius 6 cm. The length PQ, QR and

RS are equal. Semi circles are drawn on PQ and

https://dl.doubtnut.com/l/_qTaOCJza5aac
https://dl.doubtnut.com/l/_pOfPT5Jhagfg


QS as diameters, as shown in Figure. Find the

perimeter and area of shaded Region.

Watch Video Solution

62. In figure, find the area of the shaded region


[Useπ = 3. 14]

https://dl.doubtnut.com/l/_pOfPT5Jhagfg
https://dl.doubtnut.com/l/_JtrYRYjbQvx4


Watch Video Solution

63. A paper is in the form of a rectangle


 in which 
 and 


 A semi-circular portion with BC

ABCD AB = 20cm

BC = 14cm.

https://dl.doubtnut.com/l/_JtrYRYjbQvx4
https://dl.doubtnut.com/l/_H9i7jM7O5moF


as diameter is cut off. Find the area
 of

remaining part.

Watch Video Solution

64. Find the circumference and area of a circle

of radius 8.4 cm.

Watch Video Solution

65. Find the area of a circle whose

circumference is 22 cm.

https://dl.doubtnut.com/l/_H9i7jM7O5moF
https://dl.doubtnut.com/l/_zYQRy0U8c1sn
https://dl.doubtnut.com/l/_Ax5Z1SOBtpIG


Watch Video Solution

66. The circumference of a circle exceeds the

diameter by 16.8 cm. Find the radius of the

circle.

Watch Video Solution

67. Two circles touch internally. The sum of

their areas is 
and
distance between116π cm2

https://dl.doubtnut.com/l/_Ax5Z1SOBtpIG
https://dl.doubtnut.com/l/_Zkt3ijtRWro0
https://dl.doubtnut.com/l/_tmRfZwH3nIIs


their centres is 6 cm. Find the radii of the

circles.

Watch Video Solution

68. A wire is looped in the form of a circle of

radius 28 cm. It is re-bent into a square form.

Determine the length of the
 side of the

square.

Watch Video Solution

https://dl.doubtnut.com/l/_tmRfZwH3nIIs
https://dl.doubtnut.com/l/_BojvCwrSaOyr


69. A race track is in the form of a ring whose

inner circumference is 352 m, and the outer

circumference is 396 m. Find the
 width of the

track.

Watch Video Solution

70. A bicycle wheel makes 5000 revolutions in

moving 11 km. Find the diameter of the wheel.

Watch Video Solution

https://dl.doubtnut.com/l/_twf7o0bxatM0
https://dl.doubtnut.com/l/_KcrSClHHcgnU
https://dl.doubtnut.com/l/_lCzm9oJHw46p


71. The diameter of a wheel is 84 cm. How

many revolution will it make to cover 792 m ?

Watch Video Solution

72. A car has wheels which are 80 cm in

diameter. How many complete revolutions

does each wheel make in 10 minutes
when the

car is travelling at a speed of 66 km per hour?

Watch Video Solution

https://dl.doubtnut.com/l/_lCzm9oJHw46p
https://dl.doubtnut.com/l/_kHl2WCUhORXc
https://dl.doubtnut.com/l/_0tBRB0sRCeWD


73. The cost of fencing a circular field at the

rate Rs 24 per metre is Rs 5280. The field is to

be ploughed at the rate of
 Rs 
 .

Find the cost of ploughing the field.

Watch Video Solution

0. 50 per m2

(Take π = 22/7)

74. Figure, depicts an archery target marked

with its five scoring areas from the centre

outwards as Gold, Red, Blue Black
 and white.

The diameter of the region representing Gold

https://dl.doubtnut.com/l/_0tBRB0sRCeWD
https://dl.doubtnut.com/l/_hxJksKd06VO2


score is 21 cm and
 each of the other bands is

10.5 cm wide. Find the area of each of the five

scoring regions.

Watch Video Solution

75. Find the circumference and area of a circle

of radius 4.2 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_hxJksKd06VO2
https://dl.doubtnut.com/l/_mP29QbgoM1ns


76. Find the circumference of a circle whose

area is 
.

Watch Video Solution

301. 84 cm2

77. Find the area of a circle whose

circumference is 44 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_vRo4TQmlF7sf
https://dl.doubtnut.com/l/_gBYaae5VOgX8


78. The circumference of a circle exceeds the

diameter by 16.8 cm. Find the circumference of

the circle.

Watch Video Solution

79. A steel wire when bent in the form of a

square encloses an area of 
 . If the

same wire is bent in the form of a
 circle, find

the area of the circle.

Watch Video Solution

121 cm2

https://dl.doubtnut.com/l/_2pMSvOl6f1Nt
https://dl.doubtnut.com/l/_Y7OvDIGISsGn


80. A horse is placed for grazing inside a

rectangular field 40 m by 36 m and is tethered

to one corner by a rope 14 m
 long. Over how

much area can it graze?
 
.

Watch Video Solution

(Take  π = 22/7)

81. A sheet of paper is in the form of a

rectangle
 
 in
 which 
 and 


. A semi-circular portion with 

ABCD AB = 40cm

AD = 28cm BC

https://dl.doubtnut.com/l/_Y7OvDIGISsGn
https://dl.doubtnut.com/l/_MQ9FENVEGZ0M
https://dl.doubtnut.com/l/_fuQBDlOXaU29


as
 diameter is cut off. Find the area of the

remaining paper.

Watch Video Solution

82. The circumference of two circles are in the

ratio 
. Find the ratio of their areas.

Watch Video Solution

2  : 3

83. The side of a square is 10 cm. Find the area

of circumscribed and inscribed circles.

https://dl.doubtnut.com/l/_fuQBDlOXaU29
https://dl.doubtnut.com/l/_tePTALwsjODH
https://dl.doubtnut.com/l/_7zvtNF9l76td


Watch Video Solution

84. The sum of the radii of two circles is 140

cm and the difference of their circumferences

is 88 cm. Find the diameters of
the circles.

Watch Video Solution

85. The area of a circle inscribed in an

equilateral triangle is 
 . Find the154 cm2

https://dl.doubtnut.com/l/_7zvtNF9l76td
https://dl.doubtnut.com/l/_5fLr3GPDLsFD
https://dl.doubtnut.com/l/_Se4dqQYumcRo


perimeter of the triangle.

Watch Video Solution

[Use  π = 22/7and √3 = 1. 73]

86. A field is in the form of a circle. A fence
is to

be erected around the field. The cost of

fencing would be Rs. 2640 at
the rate of Rs. 12

per metre. Then, the field is to be thoroughly

ploughed at
 the cost of Re. 
 .

What is the amount required to plough the

field? 
.

0. 50 per m2

[Take  π = 22/7]

https://dl.doubtnut.com/l/_Se4dqQYumcRo
https://dl.doubtnut.com/l/_VDReqg6OrOlL


Watch Video Solution

87. The radii of two circles are 8 cm and 6 cm

respectively. Find the radius of the circle

having its area equal to the sum
 of the areas

of the two circles.

Watch Video Solution

88. The radii of two circles are 19 cm and 9 cm

respectively. Find the radius and area of the

https://dl.doubtnut.com/l/_VDReqg6OrOlL
https://dl.doubtnut.com/l/_CgMhnsesw434
https://dl.doubtnut.com/l/_NqN0SRbsXTmc


circle which has its
circumference equal to the

sum of the circumferences of the two circles.

Watch Video Solution

89. The area enclosed between the concentric

circles is 
 . If the radius of the outer

circle is 21
 cm, find the radius of the inner

circle.

Watch Video Solution

770 cm2

https://dl.doubtnut.com/l/_NqN0SRbsXTmc
https://dl.doubtnut.com/l/_Ct0kdQXvr7Hp


90. A sector is cut from a circle of radius 21
cm.

The angle of the sector is 150 degree
. Find the

length of its arc and area.

Watch Video Solution

91. Find the area of the sector of a circle
whose

radius is 14 cm and angle of sector is 
.

Watch Video Solution

45o

https://dl.doubtnut.com/l/_py1uqxMcRYXW
https://dl.doubtnut.com/l/_DjEKgXb1PqAA


92. The minute hand of a clock is 10 cm long.

Find the area of the face of the clock described

by the minute hand between 9
 A.M. and 9.35

A.M.

Watch Video Solution

93. Find the area of the sector of a circle with

radius 4 cm and of angle 
 . Also, find the

area of the corresponding
 major sector.

30o

(Use  π = 3. 14)

https://dl.doubtnut.com/l/_YVJ4hFpq1yqQ
https://dl.doubtnut.com/l/_ruwYSnXmBmo9


Watch Video Solution

94. A car has two wipers which do not overlap.

Each wiper has a blade of length 25 cm

sweeping through an angle of 
 . Find the

total area cleaned at each sweep
of the blades.

Watch Video Solution

115o

95. To warn ships for underwater rocks, a light

house throws a red coloured light over a

sector of 
 angle
 to a distance of 16.5 km.80o

https://dl.doubtnut.com/l/_ruwYSnXmBmo9
https://dl.doubtnut.com/l/_MhmD57xfS7N6
https://dl.doubtnut.com/l/_gb3IrR8XZLlK


Find the area of the sea over which the ships

are
warned.

Watch Video Solution

96. An umbrella has 8 ribs which are equally

spaced. Assuming umbrella to be a flat circle

of radius 45 cm. Find the area
 between the

two consecutive ribs of the umbrella.

Watch Video Solution

https://dl.doubtnut.com/l/_gb3IrR8XZLlK
https://dl.doubtnut.com/l/_cENkVYV4Ty2s


97. A brooch is made with silver wire in the

form of a circle with diameter 35 mm. The wire

also used in making 5
 diameters which divide

the circle into 10 equal sectors as shown in

Fig.
 15.16. Find:     (i) the total length of
 the

silver wire required
(ii) the area of each sector

of the brooch.

Watch Video Solution

https://dl.doubtnut.com/l/_10r3jrSpP0mR


98. Find, in terms of 
 , the length of the arc

that subtends an
angle of 
at
the centre of

a circle of radius 4 cm.

Watch Video Solution

π

30o

99. Find the angle subtended at the centre of

a
 circle of radius 5 cm by an arc of length


.

Watch Video Solution

(5π/3)cm

https://dl.doubtnut.com/l/_riwvidBlVHD2
https://dl.doubtnut.com/l/_76Rf4yqRbt36
https://dl.doubtnut.com/l/_Cpjhj2MhpAwF


100. An arc of length 
 cm
 subtends an

angle of 
at
the centre of a circle. Find the

radius of the circle.

Watch Video Solution

20π

144o

101. An arc of length 15 cm subtends an angle

of 
 at
 the center of a circle. Find in terms

of 
, the radius of the circle.

Watch Video Solution

45∘

π

https://dl.doubtnut.com/l/_Cpjhj2MhpAwF
https://dl.doubtnut.com/l/_fFuwQeBcMN2z
https://dl.doubtnut.com/l/_nlNslQE13ZQ4


102. Find the angle subtended at the centre of

a
 circle of radius 
 by an
 arc of length 


.

Watch Video Solution

' a'

(aπ/4)

103. Find the area of the sector of a circle with

radius 4 cm and of angle 
 . Also, find the

area of the corresponding
 major sector.

Watch Video Solution

30o

(Use  π = 3. 14)

https://dl.doubtnut.com/l/_nlNslQE13ZQ4
https://dl.doubtnut.com/l/_dxvWLeSst0SI
https://dl.doubtnut.com/l/_k2rwNfDnxWo9


104. A sector of a circle of radius 8 cm contains

an angle of 
. Find the area of the sector.

Watch Video Solution

135o

105. The area of a sector of a circle 2 cm is


. Find the angle contained by the sector

Watch Video Solution

π cm2

https://dl.doubtnut.com/l/_k2rwNfDnxWo9
https://dl.doubtnut.com/l/_A606nY7sDnZ5


106. The area of a sector of a circle of radius 5

cm is 
 . Find the angle contained by

the sector

Watch Video Solution

5 π cm2

107. 
 is a
 chord of a circle with centre 

and
 radius 4 cm. 
 is of
 length 4 cm. Find

the area of sector of the circle formed by

chord 
.

Watch Video Solution

AB O

AB

AB

https://dl.doubtnut.com/l/_rDvptiXEYfdw
https://dl.doubtnut.com/l/_KaCsVyat8zIp


108. In a circle of radius 35 cm, an arc subtends

an angle of 
at
the centre. Find the length

of the arc and area of the sector.

Watch Video Solution

72o

109. The perimeter of a sector a circle of radius

5.7 m is 27.2 m. Find the area of the sector.

Watch Video Solution

https://dl.doubtnut.com/l/_KaCsVyat8zIp
https://dl.doubtnut.com/l/_tdSj9fv56gPt
https://dl.doubtnut.com/l/_HTJkzSCwMHZa
https://dl.doubtnut.com/l/_p5uficuE6Nti


110. The perimeter of a certain sector of a

circle of radius 5.7 m is 27.2 m. Find the area of

the sector.

Watch Video Solution

111. A sector is cut-off from a circle of radius
21

cm. The angle of the sector is 
 . Find the

length of its arc and the area.

Watch Video Solution

120o

https://dl.doubtnut.com/l/_p5uficuE6Nti
https://dl.doubtnut.com/l/_9xSiBWhQyQaH


112. The minute hand of a clock is 
 cm

long. Find the area described by the minute

hand on the face of the clock
between 7.00 AM

and 7.05 AM.

Watch Video Solution

√21

113. In a circle of radius 6 cm, a chord of
length

10 cm makes an angle of 
at
the centre of

the circle. Find
 (i) the circumference of the

circle, (ii) the area of the circle

110o

https://dl.doubtnut.com/l/_GYewoQTKZ51K
https://dl.doubtnut.com/l/_E0QDsXroujko


Watch Video Solution

114. In a circle of radius 6 cm, a chord of
length

10 cm makes an angle of 
at
the centre of

the circle. Find
 (i) the length of the arc 
 ,

(ii) the area of the sector 
.

Watch Video Solution

110o

AB

OAB

115. Fig. 15.17, shows a sector of a circle,
 centre


 , containing an angle 
 , prove that:

(FIGURE)
 (i) Perimeter of the shaded region is

O θo

https://dl.doubtnut.com/l/_E0QDsXroujko
https://dl.doubtnut.com/l/_dvVekZiG608U
https://dl.doubtnut.com/l/_YCeR3YbJiO0a



 (ii) Area of the

shaded region is 

Watch Video Solution

r (tan θ + secθ + − 1)
πθ

180

 (tan θ − )
r2

2

πθ

180

116. Find the area of the segment of a circle,

given that the angle of the sector is 
 and

the radius of the circle is 21 cm.

Watch Video Solution

120o

(Take π = 22/7)

https://dl.doubtnut.com/l/_YCeR3YbJiO0a
https://dl.doubtnut.com/l/_kIJbex7pN88u


117. A chord 
 of a
 circle of radius 15 cm

makes an angle of 
 at
 the centre of the

circle. Find the area of the major and minor

segment. 

Watch Video Solution

AB

60o

(Take π = 3. 14,   √3 = 1. 73)

118. In a circle of radius 21 cm, an arc subtends

an angle of 
 at
 the centre. Find:
 (i) length

of the arc

Watch Video Solution

60o

https://dl.doubtnut.com/l/_T4D7uHDpijKZ
https://dl.doubtnut.com/l/_wxiO1fZ34mKb


119. 
 is a
 chord of a circle with centre 

and
 radius 4 cm. 
 is of
 length 4 cm and

divides the circle into two segments. Find the

area of the
minor segment.

Watch Video Solution

AB O

AB

120. A chord 
 of
 length 12 cm subtends a

angle of 
at
the centre of a circle. Find the

area of the minor segment cut off by the

chord 
.

PQ

120o

PQ

https://dl.doubtnut.com/l/_wxiO1fZ34mKb
https://dl.doubtnut.com/l/_0ePrNMbOzes5
https://dl.doubtnut.com/l/_JxiA2RxCUgzX


Watch Video Solution

121. A chord of a circle of radius 14 cm makes a

right angle at the centre. Find the areas of the

minor and major segments of
the circle.

Watch Video Solution

122. A chord 
 of a
 circle, of radius 14 cm

makes an angle of 
 at
 the centre of the

AB

60∘

https://dl.doubtnut.com/l/_JxiA2RxCUgzX
https://dl.doubtnut.com/l/_Pbox6RgezcUI
https://dl.doubtnut.com/l/_BLwKAWkIMjXB


circle. Find the area of the minor segment of

the circle.

Watch Video Solution

123. Find the area of the shaded region in

Figure, where radii of the two concentric

circles with centre 
 are 7
 cm and 14 cm

respectively and 
.

Watch Video Solution

O

∠AOC = 40∘

https://dl.doubtnut.com/l/_BLwKAWkIMjXB
https://dl.doubtnut.com/l/_QynFw0g9mw6D


124. 
 and 
 are
 respectively arcs of two

concentric circles of radii 21 cm and 7 cm and

centre 
 . If 
 , find the area of

the shaded region.

Watch Video Solution

AB CD

O ∠AOB = 30∘

125. In Fig. 15.35, 
 represents a

quadrant of a circle of radius
 3.5 cm with

centre 
 . Calculate the area of the shaded

portion 
.

AOBCA

O

(Take π = 22/7)

https://dl.doubtnut.com/l/_ezsNKS0bFYlQ
https://dl.doubtnut.com/l/_UA3mtwqA3C1k


Watch Video Solution

126. A square park has each side of 100 m. At

each corner of the park, there is a flower bed

in the form of a quadrant of
 radius 14 m as

shown in Figure. Find the area of the

remaining part of
the park 
.

Watch Video Solution

(Use  π = 22/7)

127. Four equal circles are described about the

four corners of a square so that each touches

https://dl.doubtnut.com/l/_UA3mtwqA3C1k
https://dl.doubtnut.com/l/_M4hZYFlbZ5bX
https://dl.doubtnut.com/l/_OetTmj7w90GS


two of the others as shown in
 Fig. 15.38. Find

the area of the shaded region, each side of the

square
measuring 14 cm.         (FIGURE)

Watch Video Solution

128. Find the areas of the shaded region in the

Fig. 15.39.  (FIGURE)

Watch Video Solution

https://dl.doubtnut.com/l/_OetTmj7w90GS
https://dl.doubtnut.com/l/_3pA1uGCOJ6NT


129. 
is a
flower bed. If 
and


 , find the area of the bed. 

Watch Video Solution

ABCD OA = 21 m

OC = 14 m

(Take  π = 22/7)

130. 
 is a
quadrant of a circle of radius

14 cm. With 
 as
 diameter, a semi-circle is

drawn. Find the area of the shaded portion.

Watch Video Solution

ABCP

AC

https://dl.doubtnut.com/l/_BAR2UXjqiA2v
https://dl.doubtnut.com/l/_S2s9gcKL1UPR
https://dl.doubtnut.com/l/_FWPc4n6gXrc3


131. The area of an equilateral triangle is


 . About each angular point as

centre, a
 circle is described with radius equal

to half the length of the side of the
 triangle.

Find the area of the triangle not included in

the circles. 
.

Watch Video Solution

1732. 05 cm2

(Use  π = 3. 14)

132. It is proposed to add to a square lawn

measuring  on a side, two circalar ends.

The centre of each circle is the point of

58cm

https://dl.doubtnut.com/l/_FWPc4n6gXrc3
https://dl.doubtnut.com/l/_swXBrGD8mb9b


intersection of the diagonals of the square.

Find the area of the whole lawn.

Watch Video Solution

133. Find the area of the shaded region in Fig.

15.48, where 
 is a
square of side 10 cm. 


(FIGURE)

Watch Video Solution

ABCD

(Use  π = 3. 14)

https://dl.doubtnut.com/l/_swXBrGD8mb9b
https://dl.doubtnut.com/l/_uwwcHjAGzx0X


134. Find the area of the shaded region in Fig.

if 
 is a
square of side 14 cm and 

and 
are
semi-circles.

Watch Video Solution

ABCD APD

BPC

135. A round table cover has six equal designs

as
shown in Fig. 15.51. If the radius of the cover

is 28 cm, find the cost of
making the designs at

the rate of Rs 
 . 


(FIGURE)

3. 50 per cm2

(Use  √3 = 1. 7)

https://dl.doubtnut.com/l/_bYtxgKKDaXv5
https://dl.doubtnut.com/l/_RxTJHzsqqdGU


Watch Video Solution

136. Find the areas of the shaded region in Fig.

15.52, where a circular arc of radius 6 cm has

been drawn with vertex 
 of an
 equilateral

triangle 
of
side 12 cm as centre. (FIGURE)

Watch Video Solution

O

OAB

137. In a circular table cover of radius 32cm, a

design is formed leaving an equilateral

https://dl.doubtnut.com/l/_RxTJHzsqqdGU
https://dl.doubtnut.com/l/_Got1590K0e1y
https://dl.doubtnut.com/l/_OxIqmoROb4Mn


triangle ABC as shown in figure. Find the area

of shaded region.

Watch Video Solution

138. In the given figure, AB and CD are two

diameters of circles ( with centre O)

Perpendicular to each other and OD is the

diameter of the smallest circle. If OA = 7cm,

Find the area of the shaded region.

Watch Video Solution

https://dl.doubtnut.com/l/_OxIqmoROb4Mn
https://dl.doubtnut.com/l/_pRZfvHjPGL1V
https://dl.doubtnut.com/l/_oLoHiOB1DH59


139. Calculate the area of the designed region

in Figure common between the two quadrants

of circles of radius 8 cm each.

Watch Video Solution

140. On a square handkerchief, nine circular

designs each
 of radius 7 cm are made (see

Figure). Find the area of the remaining
portion

of the handkerchief.

Watch Video Solution

https://dl.doubtnut.com/l/_oLoHiOB1DH59
https://dl.doubtnut.com/l/_VMcA1vj7oBZy


141. Find the area of the shaded region in

Figure, if
 
 and O is

the
centre of the circle.

Watch Video Solution

PQ = 24cm, PR = 7cm

142. In Figure, 
 is an
 equilateral triangle

inscribed in a circle of radius 4 cm with centre


. Find the area of the shaded region.

Watch Video Solution

ABC

O

https://dl.doubtnut.com/l/_1szgT0P5wtiD
https://dl.doubtnut.com/l/_GsBtmlD12VFz
https://dl.doubtnut.com/l/_PNpTnX0JIWnY


143. In the following figure, ABC is a right

angled triangle at A. Find the area of the

shaded region If AB = 6 cm, BC = 10 cm and L is

the center of incircle of 

Watch Video Solution

ΔABC

144. In Figure, 
 is a
 trapezium with 


 and 
 . If 
 is

a
 sector of a circle with centre 
 and 


 and 
 , then

ABCD

AB ∣ ∣ DC ∠BCD = 60∘ BFEC

C

AB = BC = 7 cm DE = 4 cm

https://dl.doubtnut.com/l/_PNpTnX0JIWnY
https://dl.doubtnut.com/l/_gjxxdIOikVDS


find the area of the shaded
 region


.

Watch Video Solution

(Use  π =  and √3 = 1. 732)
22

7

145. A plot is in the form of a rectangle


having semi-circle on 
as
shown in

Fig. 15.64. If 
 and 
 ,

find the area of the plot. (FIGURE)

Watch Video Solution

ABCD BC

AB = 60 m BC = 28 m

https://dl.doubtnut.com/l/_gjxxdIOikVDS
https://dl.doubtnut.com/l/_IC2vIEjXEDId


146. A play ground has the shape of a

rectangle,
 with two semi-circles on its smaller

sides as diameters, added to its
outside. If the

sides of the rectangle are 36 m and 24.5 m,

find the area of
 the playground.


.

Watch Video Solution

(Take  π = 22/7)

147. The outer circumference of a circular
race-

track is 528 m. The track is everywhere 14 m

https://dl.doubtnut.com/l/_5XhcdrX2qtr3
https://dl.doubtnut.com/l/_Dxid44sAbrfA


wide. Calculate the cost of
 levelling the track

at the rate of 50 paise per square metre


.

Watch Video Solution

(Use  π = 22/7)

148. A rectangular piece is 20m long and 15m

wide. From
its four corners, quadrants of radii

3.5m have been cut. Find the area of the

remaining part.

Watch Video Solution

https://dl.doubtnut.com/l/_Dxid44sAbrfA
https://dl.doubtnut.com/l/_vosZHOl0cEee
https://dl.doubtnut.com/l/_Bg3eC2yqa0Ab


149. A road which is 7 m wide surrounds a

circular park whose circumference is 352 m.

Find the area of road.

Watch Video Solution

150. Four equal circles, each of radius 
, touch

each other. Show that the area
between them

is 
.

Watch Video Solution

a

a2  (Take  π = 22/7)
6

7

https://dl.doubtnut.com/l/_Bg3eC2yqa0Ab
https://dl.doubtnut.com/l/_0uGL4sYblpMQ
https://dl.doubtnut.com/l/_8wvt1RDBzAcc


151. A square water tank has its side equal to

40
m. There are four semi-circular grassy plots

all round it. Find the cost of
turfing the plot at

Rs 1.25 per square metre


Watch Video Solution

(Take  π = 3. 14)

152. Prove that the area of a circular path of

uniform width 
surrounding a circular region

of radius 
is 
.

Watch Video Solution

h

r πh(2r + h)

https://dl.doubtnut.com/l/_8wvt1RDBzAcc
https://dl.doubtnut.com/l/_1xF2bs9Y4RFg
https://dl.doubtnut.com/l/_saL8j5xY0g0s


153. Find the area of Figure, in square cm,

correct to one place of decimal.


.

Watch Video Solution

(Take π = 22/7)

154. In Figure, 
and 
are
two diameters

of a circle perpendicular to each other and


 is
 the diameter of the smaller circle. If


 , find the area of the shaded

region.

AB CD

OD

OA = 7 cm

https://dl.doubtnut.com/l/_saL8j5xY0g0s
https://dl.doubtnut.com/l/_OhSYDIR0P8fM


Watch Video Solution

155. In Figure, 
 is a
quadrant of a circle

with centre 
 and
 radius 3.5 cm. If


 , find the area of the (i) quadrant 


(ii)
shaded region.

Watch Video Solution

OACB

O

OD = 2 cm

OACB

156. Find the area of the shaded region in

Figure, if 
, 
and 
 is

the centre of the circle. 

AC = 24 cm BC = 10 cm O

(Use  π = 3. 14)

https://dl.doubtnut.com/l/_OhSYDIR0P8fM
https://dl.doubtnut.com/l/_5xfal6j9xvol
https://dl.doubtnut.com/l/_sdi0cjcbFhPw


Watch Video Solution

157. In Figure, 
is a
square of side 7 cm.

If 
 is a
quadrant of a circle with centre 


 , then find the area of the shaded
 region.

Watch Video Solution

OABC

OAPC

O

(Use  π = 22/7)

158. A regular hexagon is inscribed the circle.
 If

the area of hexagon is 
 , find the24√3 cm2

https://dl.doubtnut.com/l/_sdi0cjcbFhPw
https://dl.doubtnut.com/l/_GZf6G42CickI
https://dl.doubtnut.com/l/_u7fxPNfdt7W8


area of the circle. 

Watch Video Solution

(Use  π = 3. 14)

159. A path of width 3.5 m runs around a
semi-

circular grassy plot whose perimeter is 72 m.

Find the area of the
path. 

Watch Video Solution

(Use  π = 22/7)

160. A child makes a poster on a chart paper

drawing a square 
 of
 side 14 cm. SheABCD

https://dl.doubtnut.com/l/_u7fxPNfdt7W8
https://dl.doubtnut.com/l/_HLqLFry25vt6
https://dl.doubtnut.com/l/_mRlui8burO6k


draws four circles with centre 
and 

in
 which she suggests different ways to save

energy. The circles are drawn in
 such a way

that each circle touches externally two of the

three remaining
 circles. In the shaded region

she write a message Save Energy.
 Find the

perimeter and area of the shaded region.

Watch Video Solution

A,  B,  C D

161. Three circles are placed on a plane in such

a way that each circle just touches the other

https://dl.doubtnut.com/l/_mRlui8burO6k
https://dl.doubtnut.com/l/_lNoYP4DGAlvw


two, each having a radius of 10
 cm. Find the

area of region enclosed by them.

Watch Video Solution

162. The diameters of front and rear wheels of

a tractor are 80 cm and 2m respectively. Find

the number of revolutions that rear wheel will

make in covering a distance in which the front

wheel makes 1400 revolutions.

Watch Video Solution

https://dl.doubtnut.com/l/_lNoYP4DGAlvw
https://dl.doubtnut.com/l/_NabapWznJ4bk
https://dl.doubtnut.com/l/_6iMRF2LYHQzq


163. Find the area of the circle in which a

square of area 
 is
 inscribed. 

Watch Video Solution

64 cm2

[Use  π = 3. 14]

164. The diameter of a wheel of a bus is 

which makes 315 revolutions per minute.

Determine
 its speed in kilometres per hour.

Watch Video Solution

90cm

(Take π = )
22

7

https://dl.doubtnut.com/l/_6iMRF2LYHQzq
https://dl.doubtnut.com/l/_klLj82E5eBOr


165. In Figure, 
. In sector 
,

square 
 is
 inscribed. Find the area of

the shaded region.

Watch Video Solution

OE = 20 cm OBFT

OEFG

166. In Figure, 
 is
 the centre of circle of

radius 28 cm. Find the area of minor segment


.

Watch Video Solution

O

ASB

https://dl.doubtnut.com/l/_tJcNeiedEmpM
https://dl.doubtnut.com/l/_x6rF8rxBznCr
https://dl.doubtnut.com/l/_owOiN1URcFPT


167. In Figure, 
 is a
square of side 4 cm.

Find the area of the shaded region.

Watch Video Solution

PQRS

168. A circle is inscribed in an equilateral

triangle 
of
side 12 cm, touching its sides

(Figure). Find the radius of the inscribed
circle

and the area of the shaded part.

Watch Video Solution

ABC

https://dl.doubtnut.com/l/_owOiN1URcFPT
https://dl.doubtnut.com/l/_cjXtXJCLhOpy
https://dl.doubtnut.com/l/_o7wy4BphQmax


169. In Fig. an equilateral triangle 
of
side

6 cm has been inscribed in a circle. Find the

area of the shaded
region. (Take 
)

Watch Video Solution

ABC

π = 3. 14

170. A circular field has a perimeter of 650 m. A

square plot having its vertices on the

circumference of the field is marked
 in the

field. Calculate the area of the square plot.

Watch Video Solution

https://dl.doubtnut.com/l/_o7wy4BphQmax
https://dl.doubtnut.com/l/_HqCnxoreNtY0
https://dl.doubtnut.com/l/_V83gfgR1HQWZ


171. In Fig. , 
 is a
 rectangle, having 


 and 
 . Two sectors

of 
 have
 been cut off. Calculate:
 (i) the

area of the shaded region. (ii) the length of

the boundary of the
shaded region.

Watch Video Solution

ABCD

AB = 20 cm BC = 14 cm

180o

172. The diameter of a coin is 1 cm (Fig. 15.83).
 If

four such coins be placed on a table so that

the rim of each touches that
of the other two,

https://dl.doubtnut.com/l/_V83gfgR1HQWZ
https://dl.doubtnut.com/l/_KllKSKLOolmA


find the area of the shaded region


(FIGURE)

Watch Video Solution

(Take π = 3. 1416)

173. From a circular piece of cardboard of

radius 3 cm two sectors of  have been cut

off. Find the perimeter of the remaining

portion nearest hundredth centimeters (Take

).

Watch Video Solution

90∘

π =
22

7

https://dl.doubtnut.com/l/_KllKSKLOolmA
https://dl.doubtnut.com/l/_wZS0gUzee1ue
https://dl.doubtnut.com/l/_LsP29hxUKaNe


174. The area of a sector is one-twelfth that of

the complete circle. Find the angle of the

sector.

Watch Video Solution

175. The radius of a circle with centre 
 is 5

cm. (Fig. 15.84). Two radii 
 and 
 are

drawn at right angles to each other. Find the

areas of the segments made by
the chord 

(Take 
).
(FIGURE)

Watch Video Solution

O

OA OB

AB

π = 3. 14

https://dl.doubtnut.com/l/_LsP29hxUKaNe
https://dl.doubtnut.com/l/_HXS6kdkbsA2L


176. 
 is a
 regular hexagon with

centre 
 ). If the area of triangle 
 is


, find the area of: (i) the hexagon and (ii)

the circle in which the hexagon is inscribed.

Watch Video Solution

ABCDEF

O OAB

9 cm2

177. Find the area enclosed between two

concentric circles of radii 3.5 cm and 7 cm. A

third concentric circle is
 drawn outside the 7

https://dl.doubtnut.com/l/_HXS6kdkbsA2L
https://dl.doubtnut.com/l/_aVMqj9ooctEd
https://dl.doubtnut.com/l/_5FVAMoaYZXWN


cm circle, such that the area enclosed between

it and the
7 cm circle is same as that between

the two inner circles. Find the radius of
 the

third circle correct to one decimal place.

Watch Video Solution

178. A path of 4 m width runs around a semi-

circular grassy plot whose circumference is 163

3/7 m. Find: the area of the path and cost of

gravelling the path at the rate of Rs. 1.50 per

square metre

https://dl.doubtnut.com/l/_5FVAMoaYZXWN
https://dl.doubtnut.com/l/_gKp7LSLggw0E


Watch Video Solution

179. Fig. 15.87, shows the cross-section of

railway tunnel. The radius 
 of
 the circular

part is 2 m. If 
 , calculate:
 (i) the

height of the tunnel (ii) the perimeter of the

cross-section
(iii) the area of the cross-section.

Watch Video Solution

OA

∠AOB = 90o

180. In Fig. 15.90, 
 is
 the centre of a circular

arc and 
 is a
 straight line. Find the

O

AOB

https://dl.doubtnut.com/l/_gKp7LSLggw0E
https://dl.doubtnut.com/l/_ItcIcY9tUZNG
https://dl.doubtnut.com/l/_GlNe6O4kwtsN


perimeter and the area of the shaded region

correct
to one decimal place. (Take 

) (FIGURE)

Watch Video Solution

π = 3. 142

181. In Figure, two circles with centres 
and 

touch
 each other at the point 
 . If 


and 
, find the area of

the shaded region.

Watch Video Solution

A B

C

AC = 8 cm AB = 3 cm

https://dl.doubtnut.com/l/_GlNe6O4kwtsN
https://dl.doubtnut.com/l/_lw8tqQkSGndq
https://dl.doubtnut.com/l/_a0gtC6U1uEPf


182. In Fig. 15.93, 
 is a
 rectangle with 


 and 
 . Taking 


 and 
 as
 diameters, three semi-

circles are drawn as shown in the figure. Find

the area
of the shaded region. 

Watch Video Solution

ABCD

AB = 14 cm BC = 7 cm

DC,  BC AD

https://dl.doubtnut.com/l/_a0gtC6U1uEPf


183. In Figure, the boundary of the shaded

region consists of four semi-circular arcs, the

smallest two being equal. If
 the diameter of

the largest is 14 cm and of the smallest is 3.5

cm, find   (i) the length of the boundary       (ii)

the area of the shaded region.

Watch Video Solution

184. In Fig. 15.98, 
 is a
 right angled

triangle in which 
 , 

ABC

∠A = 90o AB = 21 cm

https://dl.doubtnut.com/l/_03ArfydpXFJJ
https://dl.doubtnut.com/l/_nMMgIDB6FUeB


and 
 . Semi-circles are described

on 
 and 
 as
 diameters. Find the

area of the shaded region.
(FIGURE)

Watch Video Solution

AC = 28 cm

AB,  BC AC

185. In Fig. 15.99, a square 
 is
 inscribed

in a quadrant 
 of a
 circle. If 


 , find the area of the shaded

region.
(FIGURE)

Watch Video Solution

OABC

OPBQ

OA = 21 cm

https://dl.doubtnut.com/l/_nMMgIDB6FUeB
https://dl.doubtnut.com/l/_1CM27zP4oLgK
https://dl.doubtnut.com/l/_2O5tuu70kvoL


186. Two circular pieces of equal radii and

maximum area, touching each other are cut

out from a rectangular card board
 of

dimensions 
 . Find the area of

the remaining card
board. 

Watch Video Solution

14 cm × 7 cm

(Use  π = 22/7)

187. In the given figure, three semicircles are

drawn of diameter 10 cm, 7 cm and 3 cm,

respectively Find the perimeter of shaded

https://dl.doubtnut.com/l/_2O5tuu70kvoL
https://dl.doubtnut.com/l/_UaVRwTiMpMee


regions (Use ) 


Watch Video Solution

π = 3.14

188. In Figure, 
 is a
 trapezium of area 


 . In it, 
, 
 , 


 and 
 . If 
 is a

ABCD

24. 5 cm2 AD ∣ ∣ BC ∠DAB = 90∘

AD = 10 cm BC = 4 cm ABE

https://dl.doubtnut.com/l/_UaVRwTiMpMee
https://dl.doubtnut.com/l/_aGEHWZ82p4W1


quadrant of a circle, find the area of the

shaded region. 
.

Watch Video Solution

(Take π = 22/7)

189. In Figure, from a rectangular region


 with 
 , a right triangle 


 with 
 and 
 , is

cut off. On the other end, taking 
 as

diameter, a semicircle is added on outside the

region. Find the area of the
 shaded region.

ABCD AB = 20 cm

AED AE = 9 cm DE = 12cm

BC

(Use  π = 22/7)

https://dl.doubtnut.com/l/_aGEHWZ82p4W1
https://dl.doubtnut.com/l/_Y8mcOyQrQTvj


Watch Video Solution

190. What is the ratio of the areas of a circle

and an equilateral triangle whose diameter

and a side are respectively equal?

Watch Video Solution

191. The circumference of two circles are in the

ratio 
. Find the ratio of their areas.

Watch Video Solution

2  : 3

https://dl.doubtnut.com/l/_Y8mcOyQrQTvj
https://dl.doubtnut.com/l/_d8uVPdGFljEP
https://dl.doubtnut.com/l/_wpqL3dx2VNMN


192. Write the area of the sector of a circle

whose radius is 
and
length of the arc is 
.

Watch Video Solution

r l

193. What is the length (in terms of 
 ) of the

arc that subtends an angle of 
 at
 the

centre of a circle of radius 5 cm?

Watch Video Solution

π

36o

https://dl.doubtnut.com/l/_SI0ASathbguP
https://dl.doubtnut.com/l/_aoHN77x6GOGf


194. What is the angle subtended at the centre

of
 a circle of radius 6 cm by an arc of length


?

Watch Video Solution

3 π cm

195. What is the area of a sector of a circle of

radius 5 cm formed by an arc of length 3.5 cm?

Watch Video Solution

https://dl.doubtnut.com/l/_avRHrfvfrTK9
https://dl.doubtnut.com/l/_MzANGva30Qdd


196. In a circle of radius 10 cm, an arc subtends

an angle of 
 at
 the centre. What is the

area of the sector in terms of 
?

Watch Video Solution

108o

π

197. If a square is inscribed in a circle, find the

ratio of the areas of
the circle and the square.

Watch Video Solution

https://dl.doubtnut.com/l/_bHxOIZIF2fgu
https://dl.doubtnut.com/l/_LwQqSZDtYXgA


198. Write the formula for the area of a sector

of angle 
(in
degrees) of a circle of radius 
.

Watch Video Solution

θ r

199. Write the formula for the area of a

segment
 in a circle of radius 
 given
 that the

sector angle is 
(in
degrees).

Watch Video Solution

r

θ

https://dl.doubtnut.com/l/_1UIur3yBWcBt
https://dl.doubtnut.com/l/_gSG1E0MgBu1u


200. If the adjoining figure is a sector of a

circle of radius 10.5 cm, what is the perimeter

of the sector? (Take 
) (FIGURE)

Watch Video Solution

π = 22/7

201. If the diameter of a semi-circular

protractor
is 14 cm, then find its perimeter.

Watch Video Solution

https://dl.doubtnut.com/l/_akV8oMlKeZPA
https://dl.doubtnut.com/l/_GVN5CqphBdbE


202. An arc subtends an angle of 
 at
 the

centre of the circle of radius 14 cm. Write the

area of minor sector thus
 formed in terms of


.

Watch Video Solution

90∘

π

203. What is the area of the largest triangle

that can be inscribed in a semicircle of radius r

unit.

Watch Video Solution

https://dl.doubtnut.com/l/_nHgnef1Qmws6
https://dl.doubtnut.com/l/_5F4Jm6UHZU4u


204. If the circumference and the area of a

circle are numerically equal, then diameter of

the circle is


(a) 


(b) 


(c) 


(d) 

Watch Video Solution

π

2

2π

2

4

https://dl.doubtnut.com/l/_5F4Jm6UHZU4u
https://dl.doubtnut.com/l/_9ZuWs6Zo4pv2


205. If the difference between the

circumference
 and radius of a circle is 37 cm,

then using 
 , the circumference (in

cm) of the circle is


(a) 154 

(b) 44 

(c) 14 

(d) 7

Watch Video Solution

π =
22

7

https://dl.doubtnut.com/l/_Wjs2Rht9AHfe


206. A wire can
be bent in the form of a circle

of radius 56 cm. If it is bent in the form of
 a

square, then its area will be
 (a) 3520 cm2 (b)

6400 cm2 (c) 7744 cm2 (d) 8800 cm2

Watch Video Solution

207. If a wire
 is bent into the shape of a

square, then the area of the square is 81 sq.

cm.
 When the wire is bent into a semi-circular

https://dl.doubtnut.com/l/_KMqUlf1FB4o3
https://dl.doubtnut.com/l/_3M0Sm1oIFLE7


shape, then the area of the
 semi-circle will be

(a) 22 cm2 (b) 44 cm2 (c) 77 cm2 (d) 154 cm2

Watch Video Solution

208. A circular park has a path of uniform

width
 around it. The difference between the

outer and inner circumferences of the
circular

path is 132 m. Its width is
(a) 20 m               (b) 21

m          (c) 22 m          (d) 24 m

Watch Video Solution

https://dl.doubtnut.com/l/_3M0Sm1oIFLE7
https://dl.doubtnut.com/l/_tLJW6HGSeQ2f
https://dl.doubtnut.com/l/_NxHXUrbeiC3J


209. The radius of a wheel is 0.25 m. The

number
of revolutions it will make to travel a

distance of 11 km will be
 (a) 2800                 (b)

4000        (c) 5500        (d) 7000

Watch Video Solution

210. The ratio
 of the outer and the inner

perimeters of a circular path is 23 : 22. If the

path is 5 metres wide, the diameter of the

inner circle is

https://dl.doubtnut.com/l/_NxHXUrbeiC3J
https://dl.doubtnut.com/l/_s1wTN6wkc5Kl


A. (a) 55 m

B. (b) 110 m

C. (c) 220 m

D. (d) 230 m

Answer: null

Watch Video Solution

211. The
circumference of a circle is 100 cm. The

side of a square inscribed in the
 circle is

https://dl.doubtnut.com/l/_s1wTN6wkc5Kl
https://dl.doubtnut.com/l/_qmS9VBMm2tT6



 (b) 
 (c) 
 (d) 

Watch Video Solution

50√2 cm2  cm2100

π
cm250√2

π

cm2100√2

π

212. The area of
 the incircle of an equilateral

triangle of side 42 cm is
 
 (b) 


(c) 
(d) 

Watch Video Solution

22√3 cm2

231 cm2 462 cm2 924 cm2

https://dl.doubtnut.com/l/_qmS9VBMm2tT6
https://dl.doubtnut.com/l/_ULoashLyGDkV


213. The area of incircle of an equilateral

triangle is 
 . The perimeter of the

triangle is

A. (a) 71.5 cm

B. (b) 71.7 cm

C. (c) 72.3 cm

D. (d) 72.7 cm

Answer: null

Watch Video Solution

154 cm2

https://dl.doubtnut.com/l/_R5wRM4qDTSmv


214. What is the area of the largest triangle

that can be inscribed in a semicircle of radius r

unit.

Watch Video Solution

215. The perimeter of a triangle is 30 cm and

the
circumference of its incircle is 88 cm. The

area of the triangle is
 (a) 
 (b) 

(c) 
(d) 

Watch Video Solution

70 cm2 140 cm2

210 cm2 420 cm2

https://dl.doubtnut.com/l/_jeG8MAOtabRb
https://dl.doubtnut.com/l/_dWWrn9ibKcG8


216. The area of a circle is 
. The area of

a square inscribed in it is
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

220 cm2

49 cm2

70 cm2 140 cm2 150 cm2

217. If the
 circumference of a circle increases

form 
 to 
 , what
 change occurs in its

area?
 (a) It is
 halved. (b) It doubles. (c) It

triples. (d) It quadruples.

Watch Video Solution

4π 8π

https://dl.doubtnut.com/l/_dWWrn9ibKcG8
https://dl.doubtnut.com/l/_FPW0ZDmbS8Je
https://dl.doubtnut.com/l/_MZeoxoohEw1m


218. If the
 radius of a circle is diminished by

10%, then its area is diminished by
(a)
10% (b)

19% (c) 20% (d) 36%

Watch Video Solution

219. If the area of a square is same as the area

of the circle, then the ratio of their perimeters,

in terms of 
 , is
(a) 
 (b) 
 (c) 

(d) 

π π  : √3 2  : √π 3  : π

π  : √2

https://dl.doubtnut.com/l/_MZeoxoohEw1m
https://dl.doubtnut.com/l/_YapPDjI1mhpK
https://dl.doubtnut.com/l/_aPd0tEP6ssrW


Watch Video Solution

220. What is the area of the largest triangle

that can be inscribed in a semicircle of radius r

unit.

Watch Video Solution

221. The ratio of the areas of a circle and an

equilateral triangle whose diameter and a side

are respectively equal, is
 (a) 
 (b) 

(c) 
(d) 

π  : √2 π  : √3

√3 : π √2 : π

https://dl.doubtnut.com/l/_aPd0tEP6ssrW
https://dl.doubtnut.com/l/_Zcv6hOak5s8Z
https://dl.doubtnut.com/l/_SyXUA7eQTseo


Watch Video Solution

222. If the sum of the areas of two circles with

radii  and  is equal to the area of a circle

of radius , then  (a)  (b)  (c)

`

Watch Video Solution

r1 r2

r r2
1 + r2

2 > r2 = r2

223. If the perimeter of a semi-circular

protractor is 36 cm, then its diameter is
 (a) 10

https://dl.doubtnut.com/l/_SyXUA7eQTseo
https://dl.doubtnut.com/l/_oQ1JRzjUnnBD
https://dl.doubtnut.com/l/_Pmqwb8sXv55Z


cm       (b) 12 cm     (c) 14 cm      (d) 16 cm

Watch Video Solution

224. The perimeter of the sector 
 shown

in Fig. 15.106, is
(a) 
(b) 
 (c) 

(d) 
(FIGURE)

Watch Video Solution

OAB

cm
64
3

26 cm cm
64
5

19 cm

225. If the perimeter of a sector of a circle of

radius
 6.5 cm is 29 cm, then its area is
 (a)

https://dl.doubtnut.com/l/_Pmqwb8sXv55Z
https://dl.doubtnut.com/l/_yiKekVsDgfAz
https://dl.doubtnut.com/l/_nLkN97Qq8hEy



(b) 
(c) 
(d) 

Watch Video Solution

58 cm2 52 cm2 25 cm2 56 cm2

226. If the area of a sector of a circle bounded

by an arc of length 
cm is
equal to 
 ,

then its radius is
 (a) 12 cm (b) 16 cm (c) 8 cm

(d) 10 cm

Watch Video Solution

5π 20π cm2

https://dl.doubtnut.com/l/_nLkN97Qq8hEy
https://dl.doubtnut.com/l/_H4Rd4UygMENR


227. The area of the circle that can be

inscribed
 in a square of side 10 cm is
 (a)


 (b) 
 (c) 
 (d) 

Watch Video Solution

40π cm2 30π cm2 100 π cm2

25 π cm2

228. If the difference between the

circumference
 and radius of a circle is 37 cm,

then its area is
 (a) 
 (b) 
 (c) 


(d) 

154 cm2 160 cm2

200 cm2 150 cm2

https://dl.doubtnut.com/l/_F9TyRZ8I45qZ
https://dl.doubtnut.com/l/_HtdX58BccVeM


Watch Video Solution

229. The area of a circular path of
 uniform

width 
 surrounding a circular region of

radius 
is 

(A)  


(B)  


(C)  


(D) 

Watch Video Solution

h

r

π(h + 2r)r

πh(2r + h).

π(h + r)r

π(h + r)h

https://dl.doubtnut.com/l/_HtdX58BccVeM
https://dl.doubtnut.com/l/_CtfDwsQ95Q84


230. If 
 is a
 chord of length 
 cm of
 a

circle with centre 
and
radius 5 cm, then area

of sector 
 is
 (a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

AB 5√3

O

OAB cm23π

8
cm28π

3

25π cm2 cm225π

3

231. The area of a circle whose area and

circumference are numerically equal, is
 (a) 

sq.
units (b) 
sq.
 units (c) 
sq.
 units (d) 

sq.
units

2π

4π 6π 8π

https://dl.doubtnut.com/l/_Vz8r1OFrR5ik
https://dl.doubtnut.com/l/_1slYgdwXX9vv


Watch Video Solution

232. If diameter of a circle is increased by 40%,

then its area increases by
 (a) 96%                     (b)

40%          (c) 80%          (d) 48%

Watch Video Solution

233. In Fig. 15.107, the shaded area is (FIGURE)

(a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

50(π − 2)cm2 25(π − 2)cm2

25(π + 2)cm2 5(π − 2)cm2

https://dl.doubtnut.com/l/_1slYgdwXX9vv
https://dl.doubtnut.com/l/_ObRFhUHJTeK5
https://dl.doubtnut.com/l/_8hcxKhJSKyTM


234. In Fig. 15.108, the area of the segment


 is (FIGURE)
 (a) 
 (b)


(c)
 
(d)


Watch Video Solution

PAQ (π + 2)
a2

4

(π − 2)
a2

4
(π − 1)

a2

4
(π + 1)

a2

4

235. In Fig. 15.109, the area of segment 
 is

(FIGURE)
 (a) 
 (b) 

ACB

( − ) r2π

3

√3
2

https://dl.doubtnut.com/l/_8hcxKhJSKyTM
https://dl.doubtnut.com/l/_dzg9Scd8cso3
https://dl.doubtnut.com/l/_s8UcCPPMMPcW



 (c) 
 (d) None

of these

Watch Video Solution

( + ) r2π

3

√3

2
( − ) r2π

3

2

√3

236. If the area of a sector of a circle bounded

by an arc of length 
cm is
equal to 
 ,

then the radius of the circle is


(a) 12 cm 

(b) 16 cm 

(c) 8 cm 

(d) 10 cm

5π 20π cm2

https://dl.doubtnut.com/l/_s8UcCPPMMPcW
https://dl.doubtnut.com/l/_I1IuiJh4jH25


Watch Video Solution

237. In Fig. 15.110, the ratio of the areas of
two

sectors 
 and 
 is
 (a) 
 (b) 
 (c) 

(d) 
(FIGURE)

Watch Video Solution

S1 S2 5  : 2 3  : 5 5  : 3

4  : 5

238. If the area of a sector of a circle is 
of

the area of the circle, then the sector angle is

equal to


5

18

https://dl.doubtnut.com/l/_I1IuiJh4jH25
https://dl.doubtnut.com/l/_CwMjQ908NetX
https://dl.doubtnut.com/l/_KL06yqkKHvD7


(a) 


(b) 


(c) 


(d) 

Watch Video Solution

60∘

90∘

100∘

120∘

239. If the area of a sector of a circle is 
of

the area of the circle, then the sector angle is

equal to
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

7
20

110o 130o 100o 126o

https://dl.doubtnut.com/l/_KL06yqkKHvD7
https://dl.doubtnut.com/l/_A5ERP8QABSqH
https://dl.doubtnut.com/l/_AlnubZGtbIE2


240. In Fig. 15.111, if 
 is an
 equilateral

triangle, then shaded area is equal to (FIGURE)

(a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

ABC

( − )r2π

3

√3

4
( − )r2π

3

√3

2

( + )r2π

3

√3

4
( + √3)r2π

3

241. In Fig. 15.112, the area of the shaded
region

is (FIGURE)
 (a) 
 (b)
 
 (c)


(d)


Watch Video Solution

3π cm2 6π cm2 9π cm2

7π cm2

https://dl.doubtnut.com/l/_AlnubZGtbIE2
https://dl.doubtnut.com/l/_2qQ0oL4aaCd1


242. If the perimeter of a circle is equal to
that

of a square, then the ratio of their areas is
(a)


(b) 
(c) 
(d) 

Watch Video Solution

13  : 22 14  : 11 22  : 13 11  : 14

243. 13. The radius of a circle is 20cm. Three

more concentric circles are drawn inside it in

such that it is divided into four parts of equal

https://dl.doubtnut.com/l/_2qQ0oL4aaCd1
https://dl.doubtnut.com/l/_kFXtIOF89ZDp
https://dl.doubtnut.com/l/_8ZNhl0gPf6LU


area. The radius of the largest of the three

concentric circles is

Watch Video Solution

244. The area of a sector whose perimeter is

four
times its radius 
units, is
(a) 
sq.
 units

(b) 
sq.
units (c) 
sq.
units (d) 
sq.
units

Watch Video Solution

r
r2

4

2r2 r2 r2

2

https://dl.doubtnut.com/l/_8ZNhl0gPf6LU
https://dl.doubtnut.com/l/_nlzBB94IrzdU


245. If a chord of a circle of radius 28 cm makes

an angle of 
at
the centre, then the area of

the major segment is
(a) 
(b) 

(c) 
(d) 

Watch Video Solution

90o

392 cm2 1456 cm2

1848 cm2 2240 cm2

246. If area of a circle inscribed in an

equilateral triangle is 
 square units, then

perimeter of the triangle
 is
 (a) 
 units
 (b)


units (c) 
units
(d) 
units

48π

17√3

36 72 48√3

https://dl.doubtnut.com/l/_K5HhKS78Ba6Z
https://dl.doubtnut.com/l/_uHzDca5QLlTm


Watch Video Solution

247. The hour hand of a clock is 6 m long. The

area swept by it between 11.20 am and 11.55

am is
 (a) 
 (b) 
 (c) 
 (d) 

Watch Video Solution

2. 75 cm2 5. 5 cm2 11 cm2

10 cm2

248. 
 is a
square of side 4 cm. If 
 is a

point in the interior of the square such that


 is
 equilateral, then area of 
 is
 (a) 

ABCD E

CED ACE

https://dl.doubtnut.com/l/_uHzDca5QLlTm
https://dl.doubtnut.com/l/_lZIOZLAShMbt
https://dl.doubtnut.com/l/_L90ZI330Y8sL



 (b) 
 (c) 


(d) 

Watch Video Solution

2(√3 − 1)cm2 4(√3 − 1)cm2

6(√3 − 1)cm2 8(√3 − 1)cm2

249. If the area of a circle is equal to the sum

of the areas of two circles of diameters 10 cm

and 24 cm, then diameter of
 the larger circle

(in cm) is
(a) 34        (b) 26        (c) 17         (d) 14

Watch Video Solution

https://dl.doubtnut.com/l/_L90ZI330Y8sL
https://dl.doubtnut.com/l/_XGa02q2z5BG1


250. If 
 is
 taken as 
 , the distance (in

metres) covered by a
wheel of diameter 35 cm,

in one revolution, is
(a) 2.2m (b) 1.1m (c) 9.625m

(d) 96.25m

Watch Video Solution

π 22/7

251. ABCD is a rectangle whose three vertices

are B(4,  0),    C(4,  3)  and D(0,  3). The length of

one of its diagonals is
(a) 5           (b) 4          (c)

3          (d) 25

https://dl.doubtnut.com/l/_jqPY2Z0bOcXU
https://dl.doubtnut.com/l/_rXgqTEKCpVtH


Watch Video Solution

https://dl.doubtnut.com/l/_rXgqTEKCpVtH

